® Circle True or False for the following statements.

a) If 3" | a, converges then the sequence {a,} converges.

TRUE FALSE

b) If limp_,o0 @, = 2 then 3, a, diverges.

TRUE FALSE

c) The series > o, 71-1-{ diverges.

TRUE FALSE

d) If 3~ (an + bn) converges then both Y oo, a, and ¥ o>, b, must converge.

TRUE FALSE

e) If a, > b, for all n and 3 a,, converges then Y b, must converge by the comparison test.

TRUE FALSE
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c) The series 37,7 ; —= diverges.

TRUE FALSE

d) If 5, (an + bs) converges then both 377 a, and 3772, b, must converge.

TRUE ( FALSE)

e) If a, > by, for all n and ¥ a,, converges then ) b, must converge by the comparison test.
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@ Circle True or False for the following statements.

a) If lim, o a, = 0 then 37 | a, converges.

TRUE FALSE
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b) If a sequence {a,} converges then the series Y~ | a, must converge.

TRUE FALSE

c¢) If a series converges conditionally then it does not converge absolutely.
TRUE FALSE

d) The series )., 745 diverges.

TRUE FALSE

e) Suppose that b, > 0, limp—c by, = 0 but that {b,} is not a decreasing sequence. Then,
the Alternating Series Test implies Y (—1)"b, diverges.

TRUE FALSE
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c) If a series converges conditionally then it does not converge absolutely.
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d) The series Y 7, =% diverges. Qa=z=—+>0
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e) Suppose that b, > 0, limy_o0 by = 0 but that {b,} is not a decreasing sequence. Then,
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